
Main parts of
№ 40.МP 0747

Material: aluminum

Radiator relocation kitRadiator relocation kit
SEGWAY Snarler AT6 2022 - SEGWAY Snarler AT6 2022 - 

QTY Name View

1 Body

1 Bracket

1 Bracket

1 Bracket 

1

2

1 Cover

2 Screw М6х30

10 Screw М8х20

2 Nut М6

6 Washer 8

14 Washer 8 G

4 Washer  6

1

2

3

4

5

6

7

8

9

10

11

12

13

14

15

Bracket

Bracket

4 Screw М8х50

8 Washer  8

1 Sleeve L=1000 мм

1 Tube L=800 мм

4 Сlamp

16

17

18

19 2 Union

QTY Name

M8 =  24 NmM6 =  9.8 Nm

40.МP 0747



1

2

4
3

M6x30

M8x50

5

6
6

7

40.МP 0747
M6x30

M8x50

M8x50

M8x50


	Страница 1
	Страница 2

